
GHOST S1 TOPHAT Mk III
LQ-GHS103-TH

USER MANUAL (ENG)





LOUQE AB
Designed in Sweden
hello@louqe.com www.louqe.com

GHOST S1 TOPHAT Mk III USER MANUAL

BOX CONTENT

4x M3x8 button head4x M3x4 button head



TOPHAT ASSEMBLY



TOPHAT ASSEMBLY
TOP POSITION



LOUQE AB
Designed in Sweden
hello@louqe.com www.louqe.com

GHOST S1 TOPHAT Mk III USER MANUAL

ILLUSTRATION

ASSEMBLY STEPS SCREWS

• Unscrew the 8 countersunk screws holding the 
grill

• Lift the grill away by pulling the rag tag in the
back

x8



LOUQE AB
Designed in Sweden
hello@louqe.com www.louqe.com

GHOST S1 TOPHAT Mk III USER MANUAL

ILLUSTRATION

ASSEMBLY STEPS

• Place the Top Plate mounting platform on 
top of the case with the side lips pointing 
downwards (if necessary)

SCREWS



LOUQE AB
Designed in Sweden
hello@louqe.com www.louqe.com

GHOST S1 TOPHAT Mk III USER MANUAL

ILLUSTRATION

ASSEMBLY STEPS

• Put the TopHat front and back gables on 
the case gables and slightly screw them 
down using the 4 of M3x8 button screws.

SCREWS

x4



LOUQE AB
Designed in Sweden
hello@louqe.com www.louqe.com

GHOST S1 TOPHAT Mk III USER MANUAL

ILLUSTRATION

ASSEMBLY STEPS

• Make sure the gables sit loose but not 
falling off

• Slide down the TopHat side sheets into 
place

SCREWS



LOUQE AB
Designed in Sweden
hello@louqe.com www.louqe.com

GHOST S1 TOPHAT Mk III USER MANUAL

ILLUSTRATION

ASSEMBLY STEPS

• Push each TopHat gable in to the TopHat 
side sheets, see that it sits well on your case

• Screw 4 M3x8 button screws all the way 
down (the ones connecting to case)

SCREWS

x4



LOUQE AB
Designed in Sweden
hello@louqe.com www.louqe.com

GHOST S1 TOPHAT Mk III USER MANUAL

ILLUSTRATION

ASSEMBLY STEPS

• Connect TopHat gables to the side sheets 
by securing them with 4 of M3x4 button 
head screws in the middle

SCREWS

x4



LOUQE AB
Designed in Sweden
hello@louqe.com www.louqe.com

GHOST S1 TOPHAT Mk III USER MANUAL

ILLUSTRATION

ASSEMBLY STEPS

• Place the Grill on the TopHat and screw 
it down to the TopHat side sheets using 4 
countersunk screws

SCREWS

x4



TOPHAT ASSEMBLY
BOTTOM POSITION



LOUQE AB
Designed in Sweden
hello@louqe.com www.louqe.com

GHOST S1 TOPHAT Mk III USER MANUAL

ILLUSTRATION

ASSEMBLY STEPS

• Turn the case upside down

SCREWS



LOUQE AB
Designed in Sweden
hello@louqe.com www.louqe.com

GHOST S1 TOPHAT Mk III USER MANUAL

ILLUSTRATION

ASSEMBLY STEPS

• Remove the Bottom Plate from the case 
bottom view by unscrewing the 8 counter-
sunk screws

SCREWS

x8



LOUQE AB
Designed in Sweden
hello@louqe.com www.louqe.com

GHOST S1 TOPHAT Mk III USER MANUAL

ILLUSTRATION

ASSEMBLY STEPS

• Put the TopHat front and back gables on 
the case gables and slightly screw them 
down using the 4 of M3x8 button screws.

SCREWS

x4



LOUQE AB
Designed in Sweden
hello@louqe.com www.louqe.com

GHOST S1 TOPHAT Mk III USER MANUAL

ILLUSTRATION

ASSEMBLY STEPS

• Make sure the gables sit loose but not 
falling off

• Slide down the TopHat side sheets into 
place

SCREWS



LOUQE AB
Designed in Sweden
hello@louqe.com www.louqe.com

GHOST S1 TOPHAT Mk III USER MANUAL

ILLUSTRATION

ASSEMBLY STEPS

• Push each TopHat gable in to the TopHat 
side sheets, see that it sits well on your case

• Screw 4 M3x8 button screws all the way 
down (the ones connecting to case)

SCREWS

x4



LOUQE AB
Designed in Sweden
hello@louqe.com www.louqe.com

GHOST S1 TOPHAT Mk III USER MANUAL

ILLUSTRATION

ASSEMBLY STEPS

• Connect TopHat gables to the side sheets 
by securing them with 4 of M3x4 button 
head screws in the middle

SCREWS

x4



LOUQE AB
Designed in Sweden
hello@louqe.com www.louqe.com

GHOST S1 TOPHAT Mk III USER MANUAL

ILLUSTRATION

ASSEMBLY STEPS SCREWS

• Put the Bottom Plate back into place and 
screw it down to the TopHat side sheets 
using 4 countersunk screws

x4



LOUQE AB
Designed in Sweden

hello@louqe.com www.louqe.com


